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2y  0.85% (+1.8bp).. 47§} =1
10y 174% (+3.5bp)
30y 245% (+3.0bp)
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¥z 0.87% (+5.5bp)
=9 -0.02% (-1.3bp)
mZA  028% (-4.2bp)
O|Etz|0F  1.34% (-1.9bp)
AW 1.00% (-2.7bp)
ag|A  811% (-1.1bp)

“<w& 0> AUl 7[E32 oY R E 7t g LEX R ZEEE OFF ¥F1 224

© Y=g ol SRS LE ECBO| H|O| I

oE
OH
=
1o
ro
o
0
N
0z
ol
2
oot
o
=)
_?_I.
L}
=
|
>
o
fot

CUYEEYTIRATE Yoo AU B2l 4 LT HFKD 13 LHEE 9Y H5YRL
18 IS eGRE Nol2 Kl F2 20N 25HY

SN AR 254K-> 249K (0] AH257K).. K| 42 0|5 %X =
bS F 0|58 AUEEH PR 256.0K-> 253.5K... 1973I-_=| 129 o|& 7p&




IIS <2016 10€ 7 AlZt>

* <EZ Or> ABTE ASIM AME UEIL REAYEIE SE2H 58Ft +EF S 87

DOW30 18268.50 (-0.07%)
NASDAQ 5306.85 (-0.17%)
S&P500 2160.77 (+0.05%)

NIKKEI225  16899.10 (+0.47%)
SHANGHAI 3004.70 (&%
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DAX30 10568.80 (-0.16%)
CAC40 4480.10 (-0.22%)
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[Am 2065.30 (+0.60%)
AL 684.33 (-0.16%)
|l/ge2f 1112.20 (-1.50)
KTB 110.70 (-0.03)
LKTB 131.79 (-0.29)
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ly 13330% (+0.20bp)
3y 13210%  (+0.50bp)
Sy 13410% (+1.20bp)
10y 1.5360% (+2.60bp)
20y 15840%  (+2.70bp)
30y 1.5950% (+2.70bp)
CD  1.3400% ( 0.00bp)

7. BC AQ AmpC

=H —

1Y -290bp  (+0.20bp)
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2Y -4.60bp (+0.95bp)
3y -2.60bp (+0.50bp)
5Y -1.85bp (+1.05bp)
10Y -12.85bp  (+1.15bp)

1Y 13100% (+0.50bp)
2Y 12950%  (+0.75bp)
3y  1.2950% (+1.00bp)
5Y  13225%  (+2.25bp
7Y 13475%  (+2.75bp
10Y 1.4075% (+3.75bp)

)
)

1*2Y -150 (+0.25bp)
2*3Y 000 (+0.25bp)
2*5Y 275  (+1.50bp)
3*5Y 275  (+1.25bp
5*7Y 250  (+0.50bp
5*10Y  8.50 (+1.50bp)

)
)

*CRS 22|
1Y 11800% (+0.50bp)
2Y 1.0400% (+1.50bp)
3Y  0.9950%  (+2.00bp)
5Y  0.9300% (+2.50bp)
7Y  0.8600%  (+1.50bp)
10Y 0.8300% (+1.50bp)
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